Algebra 2 & Trigonometry Test Review

UNIT 7: Sequences & Series

Learning | | can identify, mathematically define, and graph arithmetic, geometric, and infinite geometric sequences
Target A | and series, generalize patterns in a sequence using explicit and recursive formulas.

+2: State whether the sequence generated by the recursive formula is arithmetic or geometric,
Then write the first four terms of the sequ%s&e and sketch a graph below your terms.
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3-4: Write the recursive and explicit formula that generates each sequence, and then find the indicated term.
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5-6: State whether each indicated sequence is arithmetic or geometric. Then write the recursive and explicit
formulas that generates the sequence.
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7-8: Find the first four terms of the given sequence.
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Learning | | can find various terms and components of a sequence or series using the appropriate given
TargetB | formulas.

g-12: Identify each sequence as arithmetic, geometric, or neither. Then find the next 3 terms.
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17-18: Find the arithmetic means. Show work (equation) in space below.
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19-20: Find the geometric means. Show work (equation) in space below. “
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tearning | 1 canfind the sum of a series, including an infinite georetric series, using the appropriate given
Target C | formulas, and | can use sigma notation to define or interpret a series.

21-22: Write each series in expanded form & find its sum. Circle your final answer.
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23-28: Express each serfes in sigma notation. Remember: use the g. formula with nas the variab
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Learning | | can apply the properties of arithmetic and geometric sequences and series to solve real-life
Target D | problems.

43-46: Use the appropriate formula(s) to solve each problem. Show detailed work to justify your answers.
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43. Matthew is training to run a marathon. He runs(20 miles the first week of trainin “and each week he | increases the
number of miles he runs by{4 miles) How man t{}faf milesdid he run 1 3 weeks of training?
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44, Onits first swing, a pendulum travel€ 8 feet) On each successive swing, the pendulum tfaveiff‘" the distance of its
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previous swing. What is the total distance traveled by the pendulum when it stops swinging?™——
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45. Colin purchased an antique dresser for w He kept the dresser for 20 years and has decided to sell it. If the
average yearly rate of appreciation is 15%, what is the dresser currently worth? gg@f LY .
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46. In the Righteous High School marching band, the students march in rows. There is one performer in the first row,
three in the next row, and five in the third row. [f there are 10 rows of performers in the halftime show, how many
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